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a— R ik A (kg) 448 (1) = g g | M (BE(D)
Y3011 HANT (E) ‘ 33 28,112| 1,080] 1,080 216 | B/ 33kg
Y3100 | &5 HAM (&) 1 59 119 119 119 BN lkg
31900 AaX 4 2,322 594 594 540 | B4 dkg
31900 X 1 756 76 76 76 | B 1048
34300 72 2| 108 11 11 11|&H 10K
34308 HHfF 6 167 5 5 5| &M 314
34500 E—< 12 2,484 216 216 216 | BN 12kg
Y3033 | ZEHHAL 127 18, 235 | 216 140 431 BN 127kg
36200 HEnE 50 3,780 76 76 76| BN 50kg
Y3044 ELEE(H) 10 432 43 43 43 BH 10k
34780 BRE LS HLAZL 30 5,357 59 50 50 | BN 1004
34930 LA ¥ 49 6, 583 76 43 RAR=T7] 1634
35940 ‘AEWItA | 107 62, 100 648 594 324 | BN 107kg
Y3024 BT 0 324 216 216 216] BN 2kg
Y3030 VAL (F) 1 972 972 972 972 | B lkg
36320 &L 27 8,132 356 356 162 | BN 27kg
36340 F LA HZE 11 4, 482 648 648 108 | B l1kg
36700 {ZAAZ< 6 1,339 216 216 216 | BA _ bkg
34600 LLED BB L 2 335 216 216 THER 2kg
48000 U 300 43, 740 864 702 702 | BN 601#
Y4010 /NEFT W 126 25, 477 . 486 378 367 | BN 631E
Y4003 ==z —A @y 7 2,635 130 130 86 | BN 231@
49470 R g T —Y s 52,018 167 49 49| BN 7651
71010 K2 28,188 97 97 97 | BN 29074
71011 A7 L —% 192, 240 97 97 76 BA 2, 1104
Z1185 |Se3 2,009 216 216 108 | BP9 123
71189 A kv 1,112 12 11 11BN 1004
53456 - RlE 4| 1,166 292 292 292 | BN 4kg
53101 (L AMR 3 1, 458 648 | 540 540 | B 3kg
30100 I A 73 6,912 130 130 86 | dLifEid 634
30300 A% L 110 13, 068 1,188 1,188 1,188 F# 1147 —RA
31100 A% I 75 6, 480 1,296 1, 296 1,296 | £ 5 5Ar— A
33810 \EFHEE 8 5, 400 2, 700 2, 700 2,700 | FEIR B 24— A
Y5005 4 KZEA . 5 1,534 1,534 1,534  1,534| K% 14— %
31700 F XY 300 31, 968 1,080 1,080 972 | BEEG 304 — %
31800 1o NAE 8 5,076 140 130 119 |ERE 404%
31950 A& L 6 3,240 1,620 1, 620 1,620 BERE 2r—%x |
31900 MX 5 1,102 119 108 108 | FEIR B 105 (500g)
31930 ZhX S 3 1, 836 76 54 54 18 3048
32800 126 3 2,430 81 81 81| = IFy 303
32800 |12 5 S 5] 756 92 11 NG 505
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SH4 4 | R (k) EM | mE | om | wm | E#® D
34300 72 ) 25 4,860 1,296 756 756 | FEA 54— 2
34400 k= b 5L 8 2,592 1,296| 1,296 1,296 fEA 9 b — 2
134400 | kv h 24 9,720 1,620| 1,620 1,620 FEA etr—2 |
34400 k= R B 24 10,476  1,836| 1,836 1,512 K% 64— A
34400 k= k C 9 324| 34| 3: 324 REA T
34460 S =& F k 2L 14 | 8, 651 130 130 32 REAR 728 7
34460 =L EE M 10 9,072 189 189 189 KEA 48,3y
34100 |#AJK I 15 5,508 1,836 1,836 1,836 | ERE 3r—K
36200 HErE 21, 50 7,020 1, 404 1,404 1,404 | EiR 54— A
36600 7-EmE L 200 | 28,080  2,916| 2,916 2,700 /& 107 —A |
36600 7-Eax N 120 3,672 648 594 594 | e 6% v h
33400 L ¥ % 18 4,79 140 130 130 B % 36{H
132000 EAU— 1 173 173 178 173 | KB 1

33600 /<t U - 1 1,134 270 216 216 REA 548 ]
38100 éu\f:h‘ 22 12, 447 | 76 49 49 =R 2183w
34764 T—L FF v a M 32 8,165 | 76 76 76 Rl 1084

34980 ~bE 9 648 22 22 22 EIRE 30

31310 AT © 972 32 39 32 | {&H 3048

31500 /MASE 8 3,024 76 76 76 &M 4045 -

31500 /AR 4 2,592] 2,502 2,502 2,502 BAEB  15—%
31500 /hAZE 4 2,160 108 | 108 108 | VL B 2048

32500 | Z-oiF 2 2,052 1,026 1,026 1,026 ‘& 25— A
32500 Ao 1 864 86 86 86 | f& il 105

36700 (ZAdT< 10 2, 840 292 281 281 | H[E 10% v b
37560 BBHIT 1 4,320 432 432 432 | K4y 1075 7
38300 725 = 5 1,291 38 59 22 | E i 504

38400 DX 30 4, 860 16 16 16 | I 3004%
38521 S LoUE 9 5, 184 108 32 32 f& 90£%

38604 T L XE 3 1, 674 65 54 54 EI 3045

YA008 T RBDA L 10 5,832| 2,916 2,916 2,916 ERE 24— R
43120 FEAARL 6 3, 240 162 162 162 &M C 2008y Y
43140 B L 30 4,536  1,620] 1,620 1,404 ‘& 34— 2
45230 EMERE 4 4,579 410 410 356 | BE 12,85 7
45231 FE72 LEIE 2 4,320 540 540 540 1@ 83y
45000 SF 5 4 1, 080 540 540 540 | [ (L 24—
45240 EA—REREES 2 1,728| 1,728 1,728  1,728|[@L 17—
44000 H b 10 3,240 1,620| 1,620 1,620 B 24—
Y4018 N=— LT 3L 6 1,782 594 594 594 | E % 38 i
49100 NFF 240 31,320 2,160 1,620 1,080 7 ¢ U EL 204 —=
Y4007 | I—AF %A 15 10,368 |  3,456| 3,456 3,456 | == —U— 34 —=%
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